GENERAL NOTES:

1.

8.

9.

THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE REQUIREMENTS OF THE HIGH VELOCITY HURRICANE ZONE

(HVHZ) AND NON-HIGH VELOCITY HURRICANE ZONE (NON-HVHZ) OF THE 5TH EDITION FLORIDA BUILDING CODE (2014).
. SYSTEM RATED FOR LARGE AND SMALL MISSILE IMPACT.

. STAINLESS STEEL SHEET METAL SCREWS USED AT LOUVER PIN SHALL BE # 14 x 3", 410-HT MINIMUM SERIES W/ 135.0 ksi YIELD

STRENGTH & 180 ksi TENSILE STRENGTH. SCREWS SHALL BE COATED WITH XYLAN 5000 SERIES FLUOROPOLYMER COATINGS
AS MANUFACTURED BY WHITFORD Co, BOX 507. WEST CHESTER PA 19381.

. ALL ALUMINUM EXTRUSIONS SHALL BE 6063-T6 ALLOY WITH MINIMUM YIELD STRENGTH OF Fy=31.0 ksi.

. ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS. ANCHORS EMBEDMENT TO BASE MATERIAL SHALL BE

BEYOND WALL DRESSING OR STUCCO.

. ANCHORING OR LOADING CONDITIONS NOT SHOWN IN THESE DETAILS ARE NOT PART OF THIS APPROVAL.

. WOOD BUCKS BY OTHERS MUST BE SOUTHERN PINE, G = 0.55 AND MUST BE ANCHORED PROPERLY TO TRANSFER LOADS TO

THE STRUCTURE.

ALL ALUMINUM POP RIVETS TO BE 5052 ALUMINUM ALLOY WITH ALUMINUM MANDREL.

BOLTS TO BE GALVANIZED OR STAINLESS STEEL WITH 36 ksi MINIMUM YIELD STRENGTH.

10. SHUTTER'S COMPONENTS ARE PATENT PENDING.

11.IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE

WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE
ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

12. APERMANENT SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE

CENTER MATE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
LABEL SHALL READ AS FOLLOWS:
"PERFORMANCE SYSTEM 2 ACCORDION SHUTTER"
HURRICANE PROTECTION MANUFACTURERS ASSOCIATION
OPA-LOCKA, FLORIDA
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED
TEST REPORT TAS-201, 202 & 203.

13. (a) THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER IS GENERIC.

14. ULTIMATE LOAD OBTAINED FROM ASCE 7-10, MULTIPLY BY 0.6 SHALL BE LESS THAN OR EQUAL TO MAX. DESIGN LOAD IN THIS DOCUMENT.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT
BASED ON THIS PRODUCT APPROVAL PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT.
CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME THE
ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.E.D. ENGINEER OF
RECORD, ACTING AS DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS
FOR REVIEW.

(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER THAT PREPARED IT.

THE DESIGN LOADS SHOWN IN THIS DOCUMENT ARE ALLOWABLE DESIGN LOADS.

TYPICAL ANCHORS: (SEE CHARTS FOR ANCHOR SPACING)

TYPE A

1/4" DIA. ITW TAPCON BY ITW BUILDEX

TYPE A1.

TYPE B.

Fu =120 KSI, Fy = 92 KSI
INTO CONCRETE fc'=3000 PSI
1-3/4" MIN. EMBED

2-1/2" MIN. EDGE DISTANCE

INTO CONCRETE BLOCK
1-1/4" MIN. EMBED
2-1/2" MIN. EDGE DISTANCE

1/4"-20 CALK-IN BY 'POWERS' FASTENERS

TYPE B1.

TYPEC.

INTO CONCRETE fc'=3000 PSI
7/8" MIN. EMBED
3" MIN. EDGE DISTANCE

INTO CONCRETE BLOCK
7/8" MIN. EMBED
3" MIN. EDGE DISTANCE

1/4" CRETE-FLEX SS4 MASONRY ANCHOR BY "ELCO" CONSTRUCTION PRODUCTS

TYPE C1.

NOTES:

WHEN EDGE DISTANCE EQUAL OR GREATER THAN 2" AND LESS
THAN MIN. EDGE DISTANCE SPECIFIED ABOVE THE ANCHOR SPACE

Fu =120 KSI, Fy = 92 KSI
INTO CONCRETE fc'=3000 PSI
1 3/4" MIN. EMBED

2 1/2" MIN. EDGE DISTANCE

INTO CONCRETE BLOCK
1 1/4" MIN. EMBED
2 1/2" MIN. EDGE DISTANCE

IN ANCHOR CHARTS ON THE DRAWINGS MUST MULTIPLY BY
FOLLOWING REDUCTION FACTOR:
ANCHOR TYPE A, & A1: REDUCTION FACTOR =0.77
ANCHOR TYPE B & B1: REDUCTION FACTOR = 0.50
ANCHOR TYPE C & C1: REDUCTION FACTOR = 0.77

PLEASE NOTE THIS INSTALLATION ARE ONLY VALID FOR
THE RESULTING ANCHOR SPACE EQUAL OR GREATER THAN 3".

LIMITATIONS OF USE

A— THIS PRODUCT EVALUATION DOCUMENT
(P.E.D.) PREPARED BY THIS ENGINEER IS
GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC
PROJECT; i.e .WHERE THE SITE
CONDITIONS DEVIATE FROM THE P .E.D.

B— CONTRACTOR TO BE RESPONSIBLE FOR
THE SELECTION, PURCHASE AND
INSTALLATION OF THIS PRODUCT BASED
ON THIS PRODUCT EVALUATION PROVIDED
HE/SHE DOES NOT DEVIATE FROM THE
CONDITIONS DETAILED ON THIS
DOCUMENT .

C— THIS PRODUCT EVALUATION DOCUMENT
WILL BE CONSIDERED INVALID IF ALTERED
BY ANY MEANS .

D— SITE SPECIFIC PROJECTS SHALL BE
PREPARED BY A FLORIDA REGISTERED
ENGINEER OR ARCHITECT WHICH WILL
BECOME THE ENGINEER OF RECORD
(E.O.R.) FOR THE PROJECT AND WHO
WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P .E.D.

E— THIS P.E.D .SHALL BEAR THE DATE AND
ORIGINAL SEAL AND SIGNATURE OF THE

AN AL 77

REVISIONS
DESCRIPTION

NOJDATE

Y

MCY.Engineering@Att.net

C

F: 786.573.5063

MCY ENGINEERING, INC.
GLAZING CONSULTANTS

8501 SW 124 AVE. STE 205A P: 305.271.0117

MIAMI, FL. 33183
www.MCYEngineering.com

Fax: (305) 769 - 9117

14475 NW 26TH AVE
OPA-LOCKA, FL 33054

PERFORMANCE SYSTEM 2 ALUMINUM ACCORDION SHUTTER
Tel: (786) 245 - 6777

HURRICANE PROTECTION MANUFACTURERS ASSOCIATION

m[
420466

DATE 5-11-18

TRraw | vp

[PROJECT | MCY 16—041

DRAWING NO.

AD16-13

1 OF 10

May 18th, 2016




-4
[=]
2.495" 3.172" " 2 |5
,90) p” : : - 2.046 - . 3 S
& friax 1.870" . 1.870" . 1.963 A87" F—1.591 28
¥ : 075 1.790" 075 —4.5914—1.167"—¢ 586" ) #—1.591" g8
S 100 5 N 8 062" 4 ' 500" A
8 g < < -1.043" " [ ™ =-FFf :
7 & i . = S ¥ |~ N o6 062" Y = ¥ T Q
: =S Ve T |‘ 1.250" g | g 3 .080,'+_ [§ ] L ] S g S )
o |g o5 LT—1.250" 475" 8 . 1y 22 =¥ 5o |: ¥ H ¥ i ] ek e =
S ) S N2 T 3z g8 \ﬁ 5~ < 128 A25T R..osoj . 3 25y & || R.063 8 = >1| &
= © \\% S [NF—k 2 g i 2 J ™ o) O o .100" 8 < e = e J, _‘L -
N NS (lv\) ¢ T 06a" —a E J 4 A~ N J ~ L4 1 727 ( L -+
o~ —J - N . 8—; F W = I~ L o~ |‘ b N ~ ‘In —r LY J P
068" JH| 3 408" | & T T : o oD
- 2 S 2 3 osarf, 080" 2 125 8 06 ne |8
512 065" : 4512] 1 *.751" %-1.087" % 1 #.710"+-1.000" @ FLOOR SILL P §
750" L k SCALE : 3/8" = 1 s% o
580" 759" 4-1.050" -.580% 79" J-1.050"* & o |
_ ® <:> FLOOR SILL o 82|z
@WALL HEADER (& INVERTED) @CEILING HEADER WALL SILL SCALE : 3/8" = 1" Z, 2:l8
( : o W E
0z =2
055" row zs 8
#—1.338" 2.362" 015 DEEP X 90° 5.069" -] o E
. s , : 148
1-1.043" 2.066" 2.095" 1.450" —# S \ M 3243 4.500" uo B |8
591" 1.191" —% .080" 1.935" - .080" i R N5 3.964" w g n g
! N : = s o
2 g 2 £1.028" 1.853" 1083 2 §§ Z0 E% 5
i) =|3L—L e ol N <29 > B |
5 ) . e R J R.012(4) :) s u E ﬁ'__l 2
P = 2
hE ¥ — g 3 o A g . > ER(S
R o S < <~ S 0 m Q
4 1 E# R..039(3) = J51" 4 8 ’ S (8] Hg 2
L o ) < : =]
,I,_m..,L +vp N = @ 180° MALE STARTER @MALE/FEMALE SOLID BLADE > S E
) =)
3.700" 8 3.545" & OPTIONAL SLOTTED @ %
HOLE (SEE ELEV. X/7) 2 443" 1.928" 300 3.000" , 2
Wb 1o e gk 1 G0 <
@THRESHOLD TRACK @ADJUSTABLE SILL ADAPTOR 17259 912" 953" 1.922 ] 2.000" " ‘ % 0
3 . . i —# 063" 5 1 Tl 23
s 2 3 s 7 o 125 al < ~
¥ I3} Al ~ @]
TR £ s SE T | g g §
F 5.069" f 5.000" o 4 N 2 T ~ L : #: — —% 3 8 ] >
324%— 4.500" , 4.500" P % = N : L | Il N oK Q
Q K| > S Q - .080 | D w < ~
3.964" - L. : s 080l JJoso" <{ I g 400K T L s|5 =38
+1.028" 1.853" 1083 | | B T o2 ¥ 657"k ' 579 ' ' 2l <32
. : 0 T N 304" 2.733" 2.164 2|5 T %
w @ LN © ; T#F———3316'————*.731"¢ F+———3.107" 4.000" 2|z G &
s <;| R..012(4) - ¥ g g 5 4.371" 3.431" 3| £ g g
S n0n 57 2.625 g 5 ) : N[z 2O~
B © 3 g @ FEMALE CENTERMATE BLADE @MALE CENTERMATE BLADE ALUMINUM TUBES =10 w0 .
@MALE/FEMALE PERFORATED BLADE @MALE/MALE SOLID BLADE SCALE : 3/8" = 1 P SCALE : 3/8" = 17 @ AR
w oy
(2)HOLES FOR }‘1‘ HlE TOX
3/16"Qd ALUM. w 8 8
POP RIVETS 9 a =
o063 | Z| o 5
< . 8 ALUMINUM ANGLE AE:
%, (R | 6" MIN. - 2 @ AR
=® #10x1/2" S. S. L Ih:L gé
© THUMBSCREW " wi >
o ﬂ: 5 i ] \\“,.nu","’ o| T
o () ——e
& T #—— 5" Max. ASAPPLICABLE—J‘ RN m T “?;5‘0468“
¢ S ANFL : RATION %,
§ -\-"\,\ FL 'Q'- “ DATE | 5-11-16
5 b e < JLOCKING PIN (OPTIONAL) < S SA_JE%@% "
<D‘§’ kS #1344 SCALE : 3/8" = 17 SR / o | BoNE
), . =) : TR | vp
BRASS NICKEL PLATED 5/16" @ X 1" S.S.M.S ' =*s .7/ ¥ %‘; b :mm —
PUSH BUTTON LOCK W/ PLASTIC KNOB LOCK =| o >
@ USH BUTTON LOC @ #—————————7.000" Max. AS APPLICABLE—J‘ 407 Tﬁ .';;3. Py
£3 G N p
COMPONENTS =~ @pumwsmas Gy I
7 Syantes S
':,5‘5'8|QN P\\:\\\‘ 2 OF 10

May 18th, 2016




MAXIMUM DESIGN PRESSURE RATING "Pd" (PSF)

AND CORRESPONDING MAXIMUM SPAN "L" SCHEDULE.

(o (>

MAXIMUM MAXIMUM SHUTTER SPAN HVHZ NON-HVHZ
DESIGN LOAD FORALL SECTIONS MINIMUM SEPARATION |NO MIN. SEPARATION
"Pd" (PSF) Max. PANEL LENGTH Max. PANEL LENGTH ;(LDL%IIEACS'ﬁo(Es) IS REQUIRED
L+ (ft.) L- (ft.)
40 13-2" 14'-1" 3.0 -
45 12'-9" 14'-1" 3.0 -
50 12'-5" 14'-1" 3.0 -
55 12'-2" 13-5" 3.0 -
60 11-11" 12'-10" 3.0 -
65 11'-8" 12'-4" 3.0 -
70 11'-5" 11-11" 3.0 -
75 11'-3" 11'-6" 3.0 -
80 111 11-2" 3.0 -
85 10'-10" 10'-10" 3.0 -
90 10'-6" 10'-6" 3.0 -
95 10'-3" 10'-3" 2.875 -
100 10' 10’ 2.875 -
105 9'-9" 9'-9" 2.625 -
110 9'-6" 9'-6" 25 -
115 9'-4" 9'-4" 25 -
120 9-1" 91" 25 -
125 8'-10" 8'-10" 25 -
130 8'-6" 8'-6" 2.375 -
135 - 8-2" 2.375 -
140 - 711" 2.375 -
145 - -7 2.375 -
150 - 7-4" 2.375 -
155 - 7-2" 2.375 -
160 - 6'-11 2.375 -
165 - 6'-8" 2.375 -
170 - 6'-6" 2.375 -
175 - 6'-4" 2.375 -
180 - 6'-2" 2.375 -
185 - 6' 2.375 -
190 - 5'-10" 2.375 -
195 - 5'-8" 2.375 -

PO DB 0D ©

i

/ (: )Ol"e
7

|

\

\
\\
I\
\\

HUTTER SPAN "L" (SEE SCHEDULE) —#
50% SPAN —# 4

\\

S
+

\\

A\
\

.

or G7)

SEE NOTES ON SHEET
7 OF 10 FOR LOCKING
SPECIFICATIONS

GOOE

-

> p B> »

TOP /BOTTOM (OPTIONAL)

TYPICAL ELEVATION

N.T.S.

¢
04
®@F_[

INSTRUCTION:

STEP 1 DETERMINE DESIGN WIND LOAD REQUIREMENT BASED ON
VELOCITY, BUILDING HEIGHT, WIND ZONE USING APPLICABLY ASCE 7
STANDARD.

STEP 2 CHECK SHUTTER CAPACITY FOR A GIVEN SHUTTER SPAN USING
CHARTS ON SHEET 3. MAX. DESIGN LOAD FROM CHART HAS TO BE
GREATER THAN DESIGN WIND LOAD FROM STEP 1.

STEP 3 USING CHARTS ON SHEET 4 THRU SHEET 10 SELECT ANCHOR TYPE
AND SPACING BASED ON DESIGN LOAD AND SHUTTER SPAN FOR THE
ANCHOR DETAIL USED.

Litdlgy
(L 1,
s L/

REVISIONS
DESCRIPTION

NOJ|DATE

Y

MCY.Engineering@®Att.net

C

F: 786.573.5063

MCY ENGINEERING, INC.
GLAZING CONSULTANTS

8501 SW 124 AVE. STE 205A P: 305.271.0117

MIAMI, FL. 33183
www.MCYEngineering.com

Fax: (305) 769 - 9117

14475 NW 26TH AVE
OPA-LOCKA, FL 33054

PERFORMANCE SYSTEM 2 ALUMINUM ACCORDION SHUTTER
Tel: (786) 245 - 6777

HURRICANE PROTECTION MANUFACTURERS ASSOCIATION

m[
420466

5-11—-16

TBraww | v

MCY 16—-041

DRAWING NO.

AD16-13

3 OF 10

May 18th, 2016




CONCRETE ANCHORS CONCRETE ANCHORS POURED CONCRETE
(SEE SCHEDULE) POURED CONCRETE (SEE SCHEDULE) REQUIRED
/ [/ orCcONCRETE N /
BLOCK WALL
REQUIRED
#14x3"S.S. S.M.S. W/ 7/16"D X
R EDGE OF SLAB
_ 7/8" LONG NYLON BUSHING IF APPLICABLE
(= & (Typ. TOP & BOTTOM)
n
- #14x2"S.S.
: & %AF;S& gé‘?';l'OM) o #14x3"S.S. SM.S. W/ 7/16"D x
e = ®— ern 7/8" LONG NYLON BUSHING
o \ | (Typ. TOP & BOTTOM)
HE =y
L2 |8
K HE
il &
ik |
- [r\ #14x2'S.S.
- S.M.S. (Typ.
SEE SCHEDULE e sceHEpULE TOP & BOTTOM)
4 FOR Min. SEPARATION 2 |
TO GLASS ’_@OR@ FOR Min. ’_@OR@
SEPARATIO
TO GLASS
EXISTING, / ExiSTING %
: GLASS. ™
Bl ™
[ %
- | =
M. t =
B s
s 0|8
LS8 ®\ / <k OPTIONAL
P = X _BUSHING
[ .
g - L 22 Z| | TopBOTTOM)
i x - t 2 = #14x 314" S.S.
m\OPTIONAL T S.M.S. @ 12" O.C.
= BUSHING m f,L
.
TOP/BOTTOM) 11 EDGE OF SLAB
112 IF APPLICABLE
1
i g E.D. 4~
N— CONCRETE ANCHORS /g/
(SEE SCHEDULE)
POURED coNCRETE/CONCRETE ANCHORS —\
POURED CONCRETE OR CONCRETE
REQUIRED (SEE SCHEDULE)
BLOCK WALL REQUIRED
WALL MOUNTING INSTALLATION CEILING & FLOOR MOUNTING INSTALLATION
SECTION A SECTION B
e e E=T
i r| .
I % .
g i
tlg {1
w0
R H o %
| TN 8
1 g |[P=
11
n | OPTIONAL Dﬂ]_i‘
- BUSHING
TOP/BOTTOM) - -~ EDGE OF SLAB
IF APPLICABLE
<
M E.D. ™ T
<>
- EDGE OF SLAB
IF APPLICABLE /
CONCRETE ANCHORS _r Z L pourep CZ)NCRETE CONCRETE ANCHORS
(SEE SCHEDULE) POURED CONCRETE REQUIRED REQUIRED

FLOOR MOUNTING INSTALLATION

SECTION B1

SCALE : 3/8" = 1°

@ 9" ON CENTER

FLOOR MOUNTING INSTALLATION

SECTION B2

SCALE : 3/8" = 1°

4
E
w0
28
g2
MAXIMUM DESIGN PRESSURE RATING "Pd" (PSF) AND CORRESPONDING B a
MAXIMUM ANCHOR SPACING (in.) SCHEDULE. +
SECTION A (TOP/BOTTOM) SECTION B (TOP/BOTTOM) B1 (BOTTOM) %
MAXIMUM SHUTTER | SUBSTRATE CONCRETE | SUBSTRATE BLOCK] SUBSTRATE CONCRETE g
DESIGN LOAD SPAN
"Pd" (PSF ANCHOR| ANCHOR|ANCHOR|] ANCHOR | ANCHOR ANCHOR ANCHOR ANCHOR -
( ) (INCH) TYPEA |TYPEB |TYPEC TYPE B1 TYPE C1 TYPE A TYPEB TYPEC 9Q
>\ =
60" 9 9 9 4 46 6 6 6 O z
78 9 9 9 3 35 6 6 6 o %
- - HCD Ul
60 % 8 | 75| 8 6 6 6 32 :
120" 6 6.5 - - 6 6 6 0|8
. . . W |8
144 5 5 | 55 6 6 6 53 | &
N @©
154" 5 45 5 - - 6 6 6 g D |y
60" 9 9 9 35 4.2 6 6 6 =0 A=
78 o |85 9 - 3.2 6 6 6 0% 3
65 ~ - 2+ ©
% 7 7 | 75 6 6 6 5 8 |g
. Z = Ko o
120 | 55 | 55 | 6 6 6 6 uo B |8
- T} y4 n o)
148" | 45 | 45 | 45 - 6 55 6 0 . |8
20 Heo |G
60" 9 9 35 3.9 6 6 6 Bo =2|9
78 8 | 85 - 3 6 6 6 zZ <8|§
70 - - wN 8. |g
9 65 | 65 | 7 6 6 6 > < CA|E
120 | 55 | 5 | 55 | - - 6 6 6 09 2418
=L
143" | 45 | 45 | 45 - - 5.5 5.5 6 2 SE E
60" 9 3 34 6 6 6 2
78 7 | 75 - - 6 6 6 L3
80 96 55 | 6 - - 6 6 6 S
120" | 45 | 45 5 - - 6 6 6 I|Oo
nlo
134" 4 4 | a5 - - 55 5 6 z| o
; - ola
60 75 | 75 | 8 - 6 6 6 oo =
78 55 | 55 6 - - 6 6 6 Q| <
100 . . Sl 3
9% 45 | 45 | 5 6 6 6 I
0 —~
120 | 35 | 35 | 4 - - 5 45 6 S| 6 =>38
- - - ol <82
60 35 | 35 | 4 5 45 6 zle £
195 S|2 FLL @
66" | 35 | 3 | 35 - - 45 4 55 5|2 g.v
23 ¢
N =z ZO',:
S0 w9rs
w|lg N3©
NOTE: Elo IS
FOR LIGHT DUTY SHUTTER ON SHEET 9, MAX. SPACING SHOULD BE LIMITED TO 6" O.C. 5 wo—= % N
0 o
L ©
O| K S
2w 'TS
S| 2 =
<
o
2z
x|
wil >
\\“.alill""" o T
0\ \ L/ 2 FLORIDA APPROVAL
3 e o Y 20466
SN tggﬂilgrl?,tﬁ‘aQN %, i
Ky > FL %’6@3 %, DATE | 5-11-18
S| § we® 7/.'. CALE
= : . * ﬁ( Sl Bramn | v
--— 1./ o oY/ L\ $rroser | MY 16-041
- [] v
Q" / Tﬁ ..‘c;\a.; DRAVING NO.
% O L 0 RS _AD16-13
¢) Soasenen® O
7, - 3
'l,f‘s' SION P\\"\\\‘ 4 OF 10

May 18th, 2016




POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

CONCRETE ANCHORS
V (SEE SCHEDULE)

1/4" @-20x3/4" S.S. BOLTS
W/ NUT & WASHER @ 9" O.C.
OR #14 x 3/4" S.M.S.

@9"0.C.

1" Min.

¥

S

.
% g
4 H 74EQ?
i i

1

cé/:ﬁ -
|

il

#14 XI3" S.S. S.M.S. W/ 7/16"@ x
7/8" LONG NYLON BUSHING

IFEI (Typ. TOP & BOTTOM)

EXISTING
GLASS. —

INVERTED

SEE SCHEDULE
f— FOR Min. SEPARATION —
TO GLASS

1

| S——

L

\ #14x2"S.S.

S.M.S. (Typ. TOP
& BOTTOM)

o—@OR@

ancLE ©)

NN

AnGLE (1)

CAN BE
INVERTED

MAXIMUM DESIGN PRESSURE RATING "Pd" (PSF) AND CORRESPONDING

MAXIMUM ANCHOR SPACING (in.) SCHEDULE. +

LT
.500" A\

OR CONCRETE BLOCK
WALL REQUIRED

s =
CAN BE ) 3
INVERTED | FE
11|l X0
[ ©
s
N P
[ o
IR
SR
w 3
|
0o
OPTIONAL
] . BUSHING
LTOP/BOTTOM)

1" Min.

A

\1/4" @-20x3/4" S.S. BOLTS
W/ NUT & WASHER @ 9" O.C.

OR #14 x 3/4" S.M.S.

@9"0.C.

CONCRETE ANCHORS (SEE
POURED CONCRETE SCHEDULE)

BUILD-OUT INSTALLATION

SECTION C

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

CONCRETE ANCHORS

(SEE SCHEDULE)

1/4" @-20x3/4" S.S. BOLTS

W/ NUT & WASHER @ 9" O.C.

OR #14 x 3/4" S.M.S.
@9"0.C.

BUILD-OUT INSTALLATION

SECTION C1

SECTION C TOP/BOTTOM SECTION C1 BOTTOM
MAXIMUM SHUTTER | SUBSTRATE CONCRETE SUBSTRATE BLOCK SUBSTRATE CONCRETE SUBSTRATE BLOCK
DESIGN LOAD SPAN
"Pq" (PSF) (INCH) ANCHOR| ANCHOR| ANCHOR | ANCHOR| ANCHOR|ANCHOR | ANCHOR| ANCHOR| ANCHOR JANCHOR | ANCHOR|ANCHOR
TYPEA |TYPEB |TYPEC |TYPEA1|TYPEB1|TYPEC1 |TYPEA | TYPEB |TYPEC |TYPEA1 |TYPEB1 |TYPEC1
60" 6 6 6 4 | 55 | 81 6 6 6 4 6 8.1
78" 6 6 6 3 | 45 | 6.3 6 6 6 3 45 | 63
60 96" 6 6 6 - 35 | 5.1 6 6 6 - 5.1
120" 6 6 6 - - 4.1 6 6 6 - 4.1
144" 6 6 6 - - 3.4 6 6 6 - - 3.4
154" 6 6 6 - - 3.2 6 6 6 - - 3.2
60" 6 6 6 | 37 5 7.5 6 6 6 | 37 | 55 | 75
78 6 6 6 - 4 5.8 6 6 6 - 45 | 58
65 96 6 6 6 - 3 4.7 6 6 6 - 35 | 47
120" 6 6 6 - - 3.8 6 6 6 - - 3.8
148" 6 6 6 - - 3.1 6 6 6 - - 3.1
60" 6 6 6 | 34 5 7 6 6 6 | 34 | 55 7
78 6 6 6 - 35 | 54 6 6 6 - 5.4
70 96 6 6 6 - 3 4.4 6 6 6 - 3 | 44
120" 6 6 6 - - 35 6 6 6 - - 3.5
143" 6 6 6 - - - 6 6 6 - - -
60" 6 6 6 - 6.1 6 6 6 - 45 | 6.1
78 6 6 6 - 4.7 6 6 6 - 35 | 47
80 9 6 6 6 - - 3.8 6 6 6 - 3 3.8
120" 6 6 6 - - 3.1 6 6 6 - - 3.1
134" 6 5.5 6 - - - 6 6 6 - - -
60" 6 6 - 35 | 4.9 6 6 6 - 35 | 4.9
100 78 6 6 i i 3.8 6 6 6 i i 3.8
96 6 6 3.1 6 6 6 3.1
120" 5 5 | 55 - - - 5 | 55 6 - - -
60" 5 5 5.5 - - - 5 5.5 6 - - -
195 66" 45 | 45 5 - - - 5 5 | 55 - - -
/
. <5
1 i3
H 25
H 3
i,
“ OPTIONAL
ez, e
#14 x 3/4" S.M.S.
@ 12" 0.C. \\“.-nmu,,h

=
e
0
1
0
2
mﬂ
E
a
(>
b
> =
L pet
(@] P
(=T1]
=8 | g
3o | o
-0 |9
= | 8
“!“’.am
. 88 |4
U mbs
ng Ak (=
y Z
0% 3
ZF 9
-] o\ E
> o |8
woe g |¢
Lu =T1]
o . |8
ZO Emg
oo <3Z|oe
z ® (8
Z < amm
w =.,|§
.S o |8
<.,(.’) mH_g
s 3z3|%
25|
e
'__
'_
5] <
I
%| 8
Z|l 0
31 =
x| o 5
ol %
Q| W o
ol K ©
|2 o>
s\ 5 >295
QO o
S|l <8
=
2z ol
R
szg',:
= O T i
HE S,
| Q Tag
HlE TOX
w| $ 3
Of =
Sy s
2| 2
)
2z
%nc
o

FLORIDA APPROVAL

s‘i\\k '%NRK#QN "", 120466
o N 5 11—
3§ S, e e
,".— :./ Mof % W|$Fromer | uey 16-041
- ) 3

7 /a1 ﬁ .-'c;\a.; DRAWING NO.

P L o oS aDie-Ts

O Ty

%, SIONP“\\‘ 5 OF 10

May 18th, 2016




ANCHORS AT TUBE END z
SEE CHART BELOW m |
ALUM. TUBES SEE Z |&
CHART ON RIGHT g (g
=
DESIGN LOAD (PSF SR
ALUM. TUBE SIZE | OPEN'G WIDTH MAX. HEIGHT (PSP) ALUM. TUBE OR ANGLE ~
ANCHOR TYPE "A" | ANCHOR TYPE "C" E
<
; / 2'x2"x1/8" 42" 88" 65 65 MAX. WIDTH g
[ =z
H 2"x3"x1/8" 60" 88" 65 65 7+ SHUTTER OPEN'G WIDTH T‘
-
1 78" 88" 57.3 62 /t/ /(v;// o [
-
2"x4"x1/8" 78" 84" 60 65 > g
- #14 SELF DRILLING pe-e - °-el O |&
£ SCREW @ 6" O.C. 78" 44 65 65 bk ” ~3| g
i / g
B % 86 |5
B 12 . sg|8
P MAX. DESIGN LOAD FOR TUBE SIZES & /= 3) SR |5
P V ANCHOR TYPE USED SEE CHART ABOVE /| % Z, a8
[ / 8 - 4
I I / = N z <
L) / I Y
- /I = z |§ §
< 5 Z> g
3" MIN. 3" TYP, / & o B |8
A / v ws * |
I/ ! ,/ L Z 0 EC’D g
I/1 \ / e 00 =3¢
- / Z o o
SEE SCHEDULE g2 2 25 30|95
#—FOR Min. SEPARATION ﬁL ol @ ¢ oE|E
TO GLASS . 39 50 &.|g
r— = 1 L - .
- | o 4 s 33
| ze 5 4 L
N <7 >
| X/ 1B
|| \ =
® ALUM. TUBE OR ANGLE > (<_t)
T 0
OAN N TOP / BOTTOM (OPTIONAL) 2|5
i I~ OPTIONAL gl < &
_ | \ BUSHING L Tl 2 >
Ea— 1 TOP/BOTTOM) { / Ol & 3
L ) < ~
AN 1" Min . OPTIONAL: FOR ANCHOR INTO GROUT FILLED CONCRETE BLOCK ; K L8g
\_® : NOTCHED fcm'=>1500 PSI USE (2) - 3/8" KWIK- BOLT 2 1/2" MIN. EMBED INTO 5|12 <88
- E D 1/4" @-20x3/4" S.S. BOLTS OPTIONAL CONCRETE BLOCK 4" MIN. EDGE DIST. AND 4" SPACING g % E o ¥
k " POSITION Z ©u
A M W/ NUT & WASHER @ 9" O.C. 512 &
OR#14 x 3/4"S.M.S. @ 9" O.C. <| 2 =z §
Nz Z 8 N
=10 wvol
R
2|8 T&%
MAXIMUM DESIGN PRESSURE RATING "Pd" (PSF) AND nl5 s
CORRESPONDING MAXIMUM ANCHOR SPACING (in.) SCHEDULE. + GIB 2
Z )
L 0]
SECTION M BOTTOM <§( Z =
L \—POURED CONCRETE z|3
CONCRETE ANCHORS OR CONCRETE BLOCK MAXIMUM SHUTTER SUBSTRATE CONCRETE 8 E
(SEE SCHEDULE) WALL REQUIRED DEgL?'(“P'é(;’;D SPAN ANCHOR SPACING ( in.) ol g
(INCH) o
ANCHOR TYPE A ANCHOR TYPE C arehitfdag,, I
BUILD-OUT INSTALLATION =~ T 3 pt / [ Piomma wevmovi |
SECTION M p— - — #20466
65 - . DATE | 5-11-16
84 6 6.5
88" 5.5 6 i % | Sp—
[PROJECT | MCY 16-041
DRAWING NO.
AD16—-13
8 OF 10

May 18th, 2016



5
B
q:
22
NOTES FOR LOCKING OF (H)& (H?) 2|8
ReQURED 1-PUSH BOTTOM LOCK (J) MAY BE USED FOR B
INSTALLATIONS SECURED FROM THE S
e ewo.c OUTSIDE OR INSIDE OF SHUTTER. WHEN =
e s 2% @O INSTALLING (J) FROM THE OUTSIDE, A 7/8'@ 12
@woc : =P HOLE SHALL BE DRILLED AT (H) AND e
5 3E< @ ®=0) 02 ol |z
Hj%. Hgo ¥EaFEQ s e oo, MUST BE RIVETED FROM THE BACK OF Ll®
: U @—\ @y @—\ - TO THE FRONT W/ (2)3/16"@ ALUM. POP R
POURED CONCRETE —— = TX1" OR 162" OR 1112/ 1 1/2" OR 1 RIVETS. A 3/8"@ HOLE MUST THEN BE AR
REQURED / ﬁ@'_ / ———N AR 7\\_)@\_'_74 ''''''''''' ~— ffi%%zz"???x,xoﬁs?ﬁﬁTx.iciifumx. DRILLED AT @ TO ALLOW FOR (3)S PIN TO EE ®
\ A / 0% \ / PASS THRU. WHEN INSTALLING (J)) FROM o B8R
< \_@ THE INSIDE, (J) MUST BE RIVETED TO @1) W/ 29 wul|S
—— Q R (2)3/16"@ ALUM. POP RIVETS. A 3/8"@ HOLE g2z =
ATt % (ormionAL) ATt MUST THEN BE DRILLED THRU @ AND Z5 8 .
@ or @D TO ALLOW FOR (J)'S PIN TO PASS THRU. 2 B |3
(SEE NOTES) zZ =0 ]
SECTION D W3 g
S oL o> 2-5116"x1" LOCK (1) MAY BE USED 20 gyt
e ALTERNATIVELY TO (J))LOCK FOR 09 5|2
e INSTALLATIONS SECURED FROM THE OUTSIDE oy 7|2
@_\ /—@ /—@@ \ r© @—\ /’@ OR INSIDE OF SHUTTER. IN THIS CASE, A5/16'@ | |>3 E=|E
e ——— PouReD concreTe HOLE SHALL BE DRILLED THRU (H) AND @1). Q¢ =53
AN N2 HOLE DRILLED TO (1) SHALL BE TAPPED TO 23|t
Z D / \ @—\ ACCEPT 18 THREADS PER INCH MACHINE ——
AN/ N\ QIR SCREW. wl 5
® / 95° 51 %
IO
(OPTIONAL) Ag/ NOTE 2 8
& crerormomssioreo oren cpow stoTED L EENeTE END CONDITIONS SHOWN CAN BE INTERCHANGEABLE. | [ &[8  _
AT 2 MIDSPAN oL R L PLE HOLE FOR HANDLE @ () g
AT + MIDSPAN O 0: \
e No% SECTION D1 (& MULTIPLE SHUTTERS) 1 ONE SIDED SECTION : END CONNECTION DETAIL Sle .8
O rrepe | SRS IR uds
Alum. TUBE POST 16 OLOSED AT HURRIGANE S|z <8
(6063-T'{31ALLC§<(S) S cLos Lé>OS|CT|0N. /_@ N é % Ij—: ﬁ %é
e ot ror N 5 ElER P
\ \ S e * g NEEER
/ S T =10 095
4 ORAC e ! B g lc 837
@\ ! H 3 N § oD Iag
#10x3/4"S. S. 7] OPEN OPTIONAL SLOTTED ‘“ g \~—/ :'3 Va 3.250" 2 i)' o 5 © ©
S.M.S.OR 3/16" @ HOLE FOR HANDLE . : .889" o '\k w 0
e N e - ol &
oo = LA NYLON CAP DETAIL Zlu 3
iLTJfMEJI\EISTUBE HOX3LS. S gﬂh)ﬂxg/‘gs-;1-6"0 CONCRETE ANCHORS EDGE OF SLAB N E <Z,:
S.M.S.0R 316" @ Alum. POP RIVETS @ FA ANGLE GRIND SMOOTH \ ol 9
: ISOMETRIC
SECTION E um. 9 \ s@ 18" 0. C. (Typ.) 1oUME I KIC EDGE ALL AROUND L|
S A (CORNER POST) ELEVATION X |5
Cont. Alum. ANGLE Cont. Alum. ANGLE (Typ. AT TOP & BOTTOM SLABS) \\“. N lllllu," T
1 ; 4 [ 7o o |
& G 420466
(OPTIONAL) SECTION E2 i DATE | 5-11-18
SCALE : 3/8"=1" °
SECTION Ef1 Fus
W SCALE : 3/8"=1" 2 =RA‘N P
J) or @ FPROJECT | MCY 16-041
(SEE NOTES)
OPEN OPTIONAL SLOTTED DRAWING NO.
K\ 7 OF 10

May 18th, 2016




50% "h" MAX. BLADE LENGTH
FOR 2.625"x6.287"

SHUTTER SPAN (SEE SCHEDULE)

©

-4
o
GENERAL LIMITATIONS AND CONDISTIONS OF USE FOR g E
K G OR G1 BLADE ACCORDIAN SHUTTER SYSTEM S g
WORKING IN UNISON WITH G’ BLADES. E =
OR .
A B )>(B2)> (B1 C ci 1. MAXIMUM SHUTTER SPAN AND PRESSURE RATING, MAXIMUM =
ANCHOR SPACING AND MINIMUM SEPARATION TO GLASS FOR S
G' AND G1' WORKING IN UNISON WITH G AND G1 ARE AS PER Z
] f SCHEDULES ON SHEET 3, 4, 5 & 9. -
<« > 2
= % 2. MAXIMUM PERFORATION AREA AT G', G1' IS +2.625" x 6.28" AND " +
=< MUST BE LOCATED WITHIN THE CENTRAL 50% OF THE BLADE O g
Y SPAN. &
i< OLD) 22|e
R 6 PERFORATED BLADES G, G1 MUST BE SOLID AT THE TOP AND eele
(LQ- pr — SEE NOTES ON SHEET BOTTOM 25% OF BLADES SPAN. &I =i
> 7 7 OF 10 FOR LOCKING 66| &
5 SPECIFICATIONS 3. PERFORATED BLADES G', G1' SHALL BE INSTALLED AT EVERY 0 88 |5
£ OTHER BLADE (FREQUENCY). 2 |5
: D 2o as2
2 4. CENTERMATES H, H1 MUST ALWAYS BE ACCOMPANIED BY 0z <
O v TWO SOLID BLADES G, G1 AT EITHER SIDE OF EACH 2% 8
% 4 CENTERMATE. g3 O §
z 0] E 13}
Q |\ D1 5, STARTERS AND CENTERMATES MUST BE ALWAYS SOLID. H 2 @ |9
X 20 Hgpl|E
o <Z( 6. STARTERS CONNECTION TO EXISTING BUILDING OR TO Do =28
4 a END/CORNER TUBES MUST BE AS PER DETAILS INDICATED ON 2z <3|§
H—'.Z . A N 3 AT A : ] R e E SHEET 7. wy |48
Sk £ 9OEIEEIEEIEE) | (0EEEEEEIeE 5d Bl
=% 3 0" Z5)3
- or or or orj| or or ||or or or or 3=
=|a +H E1 8BS E
213 G el e ey ||\ e e e e
28 < i[ 3
/ [0 E|2
5] <
> > p > SECTION S-S THRU G MALE/FEMALE BLADE 2|5
2|2
OO 1,
Z| 9 5
GRGE T
ol K ©
K < E we =
TOP/BOTTOM (OPTIONAL) 2 Q z §§
Z|le Ty
S|2 Lo
Z o8
TYPICAL ELEVATION EIERE:
T zx
alz 28k
a2 0ab
AR
HlE TOo8
w| $ 3
Oof a =
Z|lw K
=S| 2 =
rl| <
ol ¢
i
ooooooooooooooooo @ %
000000000 L : . \‘“"l“““”’l —D- =
. [ FooRma rmovaL |
420466
7" TYP TYPICAL G' PERFORATED P P
' BLADE ELEVATION - Sl
TYPICAL SHUTTER PLAN = [fons
- EDRAWN | Y.P
'-; [PROJECT | MCY 16—041
-
DRAWING NO.
s 60.._"9.?‘.-\'6 “\ AD16—-13
':,"SS|QNP\‘\\\‘ 8 OF 10

May 18th, 2016




) OI'OI' %
@@ [ & LIGHT DUTY SHUTTER WALL MOUNT, CEILING AND FLOOR INSTALLATIONS oo | o 8
5 n 14 S
r " || W/ A1, A2, A3 TRACKS, CENTERMATE HL & BLADES G, G1 oncreremorons | B [5
m @18"0.C. B|Aa
g L @
a i [T see nores on sHeer B
I P~ SEEtCaTone ™ #10x 3/4" S. M. S. OR 2
D \ / L1 CONCRETE ANCHORS __| 3/16 @ ALUM. POP RIVET S
g v /4/ @7 @18°0.C. @ 18" 0. C. 2
25 ~
Dy én% 171" OR 1"x2" OR 1 1/2" x °
z [ 11/2"OR 11/2"x 2" OR 2" > g
T = x 2" OR 2" x 3" OR 2" x 4" 1 be]
o < OR 2" x 5" x .055" MIN. O =
x o POURED CONCRETE (]
i ? {6 REOUNRED THICK ALUM. ANGLE ~ 2 E
23 33 |8
e NOTE: eag
, I END CONDITIONS SHOWN 55|48
j } |> CAN BE INTERCHANGEABLE. . 8L 8
0 R
®or@)or(©)ox TOP / BOTTOM (OPTIONAL) 3.61" 2, &xl8
®- ©=Q) =)o TYPICAL ELEVATION SECTION G.G 62 «
D @@ S zt §
MAX. SHUTTER SPAN "L"|MAX. DESIGN PRESSURE 7 3 Qg
60" +/- 75 PSF 2.451" 3.826" W2 E 8
S 23 o, |2
W " M " =
SECTION A ON PAGE 4) POURED CONCRETE 053 4 720" — 4053 053 4 720" —4053 3 8 E gle
POURED CONCRETE MAX. SPACING LIMITED TO N REQUIRED R s, R 08, z 2|8
CONCRETE ANGHORS /! OR CONCRETE 6"0.C. N Vs " ot 3§ 3 ; —F 918" =54 Z5 I°|®
(SEE SCHEDULE FOR 2;%%‘:;!3'—'— ; 5 o % o1gmsdl- 1 L 3 o Wweg =4 é
SECTION A ON PAGE 4 B 1 N S © = ] [
MAX. SPACING LIMITED TO) #14x3"S.S. SM.S. W/ 7/16"D x EDGE OF SLAB S ¥— = g ¥ = s 7 E g
6" 0.C. 7/8" LONG NYLON BUSHING 4 IF APPLICABLE o1 L N Hod SN 7 1 —% - % ]
B }8 (Typ. TOP & BOTTOM) Sed § I Joea F g F o 2 . S 83
3 . 1597 NI © N | 063" 5 N E
#14x2'SS. #14x3"S.5.SM.S. W/ 716"D x & NP 1129 o 7 i ' g 3
&2 S.M.S. (Typ. ® I 7/8" LONG NYLON BUSHING N e = ik e 3 - x| =z
. TOP & BOTTOM) (Typ. TOP & BOTTOM) \jﬁ g N gl wis
ui k —% 0
N N [
¥ ¥
- X x " 2.000" 2 g
b= = = 625'7 - 10
=) = Z|ln
] & .053" .053" ) 2 ~
™~ #14x2'ss. =) =
- - WALL HEADER (& INVERTED) WALL HEADER (& INVERTED) Y| 9 5
SM.S. (Typ. A2 A3 Y >
- - TOP & BOTTOM) LIGHT DUTY LIGHT DUTY 8 w o
ol K ©
" OR m < ~
4 3.25" MIN. g OLS) 3 MIN.— —©=6) 1.826 <2 w &
| 17207 , 20 283
.053 : .053 S5l <32
Z|L T
4-.918" 4548 SO’
EXISTING | % EXISTING % 1.581" 512 Q &
GLASS. I/1 GLASS. ™ I/1 I 3 g g §
” : =) = 313 28K
: ] = - =10 095
' 1.232" @ ol.o750 2.016" = mlE NS
>y \T; ’ i ) i - '(73 @) 3 E )
M e 9 g N 3.636" 21E =83
B | | g i F—T% 0|5 ~
1 . = wi o <]
I : I gl =
i = 1 0|8 Z| 3
| | 3 H 7 §  OPTIONAL E <ZE
L 4 i Rz 5 2| | Tommotrou 053" .053" ol 9
AN N~ = ) L m
i . ] “1_ 220 waxsarss. 73} CEILING HEADER (8INVERTED) @ CENTER BLADE cle
brd\ OPTIONAL _ IT1 S.M.S. @ 12" O.C. LIGHT DUTY LIGHT DUTY - E =)
BUSHING 4 _aniretii g, T
=] TOP/BOTTOM) ~— EDGE OF SLAB - [ TR wwmovir |
=|_§g=L IF APPLICABLE 420466
CONCRETE ANCHORS E. D-74‘
(SEE SCHEDULE FOR / DATE | 5-11-16
SECTION A ON PAGE 4) CONCRETE ANCHORS i
lg/!ll-\é(.CSPACING LIMITED TO POURED CONCRETE / (SEE SCHEDULE FOR TBram | ve
POURED CONCRETE OR CONCRETE o REQUIRED SECTION A ON PAGE 4)
BLOCK WALL REQUIRED gﬁngPACING LIMITED TO FPROJECT | MCY 16-041
o DRAWING NO.
WALL MOUNTING INSTALLATION CEILING & FLOOR MOUNTING INSTALLATION N EW S H E ET AD16—13
SECTION L1 SECTION L2
SCALE : 3/8" = 17 SCALE : 3/8" = 1" 9 OF 10

May 18th, 2016




1/4" @ LAG SCREWS 1/4" @ LAG SCREWS 1/4™ @ SELF DRILLING
@6"0.C. W/ 11/2" @6"0.C. W/ 11/2" SCREW (GRADE 5) @ 6" O.C. z
Min. THREADED PENETRATION Min. THREADED PENETRATION g
TO EXISTING WOOD STRUCTURE TO EXISTING WOOD STRUCTURE WOOD TRUSSES OR RAFTER 215
o #14x3"S.S.SM.S. W/ p— @ /24 0.C. REQUIRED £ 3
Sl . " : . 1/8" x 4" (Min.) 6063-T6 Alum. PLATE =Bk
L 3 L’Jﬁoﬁ )éznglﬁx?g ¢ 2 " Min. " H4" 3204314 8. BOLTS W/ (3) 5/26" ;25)x4" LONG "ELCO" ULTRACON TO =
(Typ. TOP & BOTTOM) TECHEQ WINUT & WASHER @ 9" O. 4 EACH RAFTER OR TRUSS. LOCATE SCREWS 5
414x2"S.S s i  #14x 3" S.S. SM.S. g AT MIDWIDTH OF EXISTING WOOD MEMBER, 3
?R SMS. (Typ. ” .u.'“| W/ 7/16" @ x 7/8" (2" Min. NOMINAL WIDTH) W/ 2 1/2" Min. e
) TOP & BQTTOM) % D LONG NYLON BUSHING THREADED PENETRATION.
OR ! ﬁ (Typ. TOP & BOTTOM) #14x3"S.S.SM.S > 3
#14x2"S.S. W/ 7/16" @ x 7/8" %) g’

WOOD HEADER i WOOD HEADER LS.M.S. (Typ. TOP LONG NYLON BUSHING SEE SCHEDULE FOR e
EXISTING REQUIRED C @ EXISTING REQUIRED & BOTTOM) (Typ. TOP & BOTTOM) Mjs. SEPARATION §§ £
GLASS: SEE SCHEDULE | _ GLASS. SEE SCHEDULE E14x2" S5, T To GLASS % 8o g

OR Min. SEPARATION z¢ FOR Min. SEPARATION —¢ —G)orG) T~ & | 8
TO GLASS |/1 SE S.M.S. (Typ. TOP Qw0 [‘F
o TO GLASS . EXISTING | & BOTTOM) OPTIONAL %5 5 . £8 |4
ALTERNATIVE 1 Eg ALTERNATIVE 3 GLASS. “SEE SCHEDULE BUSHING —\ M AISEE | O D> |5y
24 FOR Min. SEPARATJIO ‘@OR@ a0 |2 e |9
) /A , = EXISTING lm |So am|=
/ % 2 ST TO GLASS Y% GLASS, — P - 0
= e <PFE - )L 0z <
wy An Sk < 0
23 B 2'x4 1220 L : 25 8
: A Z+
o FE EXISTING WOOD PLATE Q> U:ll ¥ 3 g
2a | et EXISTI nooD PLA g ALTERNATIVE 1 O z3 u (5
EXISTI WOOD PLATE Pl ape ' SEE SCHEDULE wg “° |2
GLASS. REQUIRED. / E J ¥ Y FOR Min. % 29 E,|f
J 2 — SEPARATIO , ho <8 e
¥ OPTIONAL m  OPTIONAL | %23 >z <B|8
f TO GLASS Q IO @
™ BUSHING A . BUSHING EXISTING SPE Wy 8 é,
(TOP/BOTTOM) GLASS. ~ |l =+ 6 7 3 =B
(TOP/BOTTOM) ; i ——k bzl||| 82  opTioNAL 1/4" @ LAG SCREWS 5 o B g
5 =11 ®__ BUSHING @ 6" 0.C. W/1 1/2" Min. 3 332 |5
c OR@OR@ e} U:ll L] (TOP/BOTTOM) THREADED PENETRATION = E
1/4" LAG SCREWS @ 6" O.C. 1/4" @-20x3/4" S.S. BOLTS N =% o 414 x 3/4" TO EXISTING WOOD DECK.
W/ 1 1/2" Min. THREADED PENETRATION W/NUT & WASHER @ 9" O.C. | S = SMS @ 2" x 6" WOOD DECK x| 3
TO EXISTING WOOD STRUCTURE OR#14x3/4" SMS.@9"O.C. 12°0.C. REQUIRED (NO FINISH = z
; . " ALLOWED) o| <
1/4" LAG SCREWS @ 6" O.C. W/ 1 1/2 ! s 2|35
WOOD STUD @ 24 O.C. Min. THREADED PENETRATION ALTERNATIVE 3 210
MAX. REQUIRED. TO EXISTING WOOD STRUCTURE 3|9
= < N~
ALTERNATIVE 4 1/4" LAG SCREWS @ 6" O.C. W/ 1 1/2" -/ \__ 2" x 6" WOOD DECK S| =
Min. THREADED PENETRATION REQUIRED (NO FINISH ALLOWED Q| & -
( ) ol uw o
ALTERNATIVE 2 Y TO EXISTING WOOD STRUCTURE ol 8
< W —
~©6) ALTERNATIVE 2 5|5 288
1/4" & LAG SCREWS L TowS
o oQ(J: Wi 1 112" Min e WALL MOUNTING INSTALLATION (OFFSET) é 5L
THREADED PENETRATION TO #14x2"SS. SECTIONS B 512 & &
SEE SCHEDULE L ~s.M.s. SECTIONS B 3 <
| EXISTING WOOD STRUCTURE bR Min. SEPARATIO % SCALE: 1/4"=1" z § ; X
: 1/4" @-20x3/4" S.S. BOLTS TO GLASS ~ = NOTE: S| 0 095
i/ W/ NUT & WASHER @ 9 O.G. s E z o WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE (L.;_JJ 5 E E‘I_ o
= . " SLAGS | 234 oprionaL COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. 2lw IaE
= Min £ —"BUSHING ol G )
[+ . «©
TEQ:F Q’r #14x3"S.S.S.M.S. : » j: - NOTES: 5] i 2
) , ] W/ 7/16" @ x 7/8" i #14 x 3/4"S.S. S.M.S. @ 12" O.C. - Zlw K
: LONG NYLON BUSHING 52 | 1. INSTALLATIONS ARE ONLY VALID FOR INSTALLATIONS WITH DESIGN WIND <z 2
D (Typ. TOP & BOTTOM) %S ’l'MinJ‘ LOADS LESS THAN OR EQUAL TO 70 p.s.f. AND 9'-0" Max. SHUTTER SPAN. z S
1/4" B-2053/4" S.5.BOLTS 2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN Il
#14x2"S.S. " PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL/GREATER. Gl
- SM.S. (Typ. TOP W/ NUT & WASHER @ 9" O.C. — WS
M.S. . " " it ']

WOOD HEADER 8 BOTTOM) OR#14x3/4"SM.S.@ 9" O.C. W\ 11y, R
EXISTING REQUIRED #20M4]6m6
GLASS. SEE SCHEDULE ‘@OR@ 1/4" LAG SCREWS @ 6" O.C. W/ 1 1/2" Min. 2

FOR Min. SEPARATION & e 4 WOOD PLATE _/ THREADED PENETRATION TO EXISTING WOOD STRUCTURE 4 DATE | 5-11-16
EDRAWN | Y.P
ALTERNATIVE 5 BFROIECT| MCY 16041
ALTERNATIVE 6

WALL MOUNTING INSTALLATION (OFFSET) DRAWING N0,

SECTIONS A AD16-13
SCALE: 1/4"=1" o OF 10

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

May 18th, 2016




